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= (1/2% (4. 650%1. 000+4. 250%0. 600) *0. 100%2*1/2) *2. 5

(0. 4000. 006x9. 360+1/2%0. 930*0. 0045%4. 190%2) *7. 85

HAHYESE)
(2E8)
2% ((5. 69+8. 26+0. 45+0. 13-0. 9) /2. 5+0. 31/7. 85)

(0. 750%0. 450%2+1/2% (0. 750+0. 500) *1. 450%2
+6. 400%0. 500) *0. 400%2. 5

(1. 400%0. 360*10. 200) *2. 5

(1. 000%0. 300%0. 600%2) *2. 5

(1. 000%0. 300*0. 350) *¥2. 5

- (1/2% (4. 650%1. 000+4. 250%0. 600) *0. 100*2) *2. 5

(0. 400%0. 006+9. 360+0. 930x0. 0045%4. 190*2) *7. 85
#HARBYES)
(REE)

4% ((5.69+12. 85+0. 90+0. 26-1. 80) /2. 5+0. 45/7. 85)

(0. 750%0. 450%2+1/2% (0. 750+0. 500) *1. 450%2

+6. 400*0. 500) 0. 400%2. 5
(1. 080%0. 360%10. 200) 2. 5
1/2% (1. 000*+0. 300%0. 600%2) *2. 5
1/2% (1. 000*0. 300*0. 350) *2. 5
= (1/2% (4. 650%1. 000+4. 250%0. 600) *0. 100%2*1/2) *2. 5
-(1/2x0. 08%0. 18%10. 2) *2. 5

z
2%

z
4%

(0. 400%0. 006%9. 360+1/2%0. 930*+0. 0045%4. 190*2) *7. 85

(HAZYVEE)
(2E8)
2% ((5. 69+9. 91+0. 45+0. 13-0. 9-0. 18) /2. 5+0. 31/7. 85)

(BB#4 () + (BRH D) + (B # @)

2
2%

W
vV

© ©o ® o

69
26

.45
13
.90
31

13.
27.
10.

94
88
98

.69
.85
.90
.26
.80
.45

~+ =+ |+ &+ &+ =+ e+ -+

3
w

.35
.40
.81

69
91

.45
13
.90
.18
31

~+ =+ |+ &+ &+ + o+

3
w

132.
52.

A
.82
.16

10
01

~+ &+ |+ &+ & &+ + o+ +

3
w

m3



3) MEIBEH

300HE)

4850

180

— RYET
@ 4.57 t / 17 t/8 = 0.27 H
B+ 2 27.88 t / 90 t/H = 0.31 H
%16 73.40 t / 90 t/H = 0.82 H
@ 30.82 t / 90 t/H = 0.34 H
2 = 2 H
— R
4@ 27.88 t 25 t/H = 1.12 H
Y IE)) 73.40 t 25 t/H = 2.94 H
@ 30.82 t 25 t/H = 1.23 H
= 6 H
(—R)+(ZR) > = 8 H
4) A - WTH#
J4¥—Y—I (lBELRX% 0)
HYYET==3. 3m2/H 32.24 m2 / 3.3 m2/H = 10 H
XMy-y-YkrmEiEIE. 2.4 D4 v—yY—1I] 238,
BA-BRTA# ( 8 B + 10 B) *x 2 = 36 H
2. HIFLT (A7HR—=1Y T IE)
30020 4250 1Uﬁoouu 4250 00 "2'0" 00 4250 u]u%[z?u 4250 20000
%é;&é%%%ﬁ—%gﬁ) H 3175 <0 34550 0 3450 472475 3450 0 )63?45 0 3175 ke
[
15 f,;j’,, ,,i,;,o,;;,D ;,,i,o;;f: ! ‘/° ,,gf =
o R | M R | TR B
N SR ]I} SN | MR | =
74%-Y-18 LI\ ¢ 50
L=290mm 0.290 * 28 4P = 8.12 m
. ¢ 200
L=260mm 0. 260 * 12 #»Fr = 3.12 m
3. AvA—T (wKiFE26cm)
FEEH A M 4.250 * 12 4 mr = 51.00 m



4 JA4v¥—J—T

(B4 0)

10200 20 10200
200 4250 200300200 4250 200300{300200 4250 20080200 4250 200800
475 4300 5! 4300 A75/47H 4300 5 4300 415
3175 450 3450 2 3450 B4p) 3175
1800 230 _|2000 2300 1800 1800 2300 2000 300 1800

RCTHT = RENMH1E

430 (478)

900 500

4850
1400

1400

1080 _

400 1000 40

(@)

43

1000 #00500

1000 A0
4850

1000 40

40

LI
T4 X =y =4 (—K)
T4 =Y =4 (ZR)
8 —4R

750

10 620
430 4 850 20 W1
IfIE | 500[, 900 1400 1400 1080 Wi-1 .
A0.48Mm2 | XA | ZRAhRi
X
(HHOHE) A=0. 6242 A=0. 524m2
A=0. 224m2 (FHOPE) (EH @)
(E# Q)
SRS
o 8__
3
500 [400{ 1000 |400| 1000 |400] 1000 400 8I\'
5280
[k
10200 2 10200
300 200 4250 200 300200 4250 200 300 | 300200 4250 200300 200 4250 0| 3&0
T4 X—y—BLR ¢50 |47} 4300 -BEJ 4300 475 ) 47 4300 5 4300 415
94 %=y = RYE 94—y —ZRYBER
A=0. 336m2 s A=0. 336m2 A=0.336m2 A=0. 336m2
- VAICER SRS U S (VY= —ROEHD) VACEEEIESS T (X —y——RuEEE) \
® i = o : BERE L om ﬁi —=
g3 o e : W=930+4190m = g
— \ JE3aHAH_ t=6mm =0. 310m. =0, 310 -
H=400+3360m A(%ilgvz—v——mt& f78) %Qz—v——mmﬂm
1450 6400 150 ] 6400 1450

450

1450

20420

1450

450




1) 74v-)-80#r (—R)
BHMEAAR EHMO)
a7 A (HrfE)

0.224 m2 x 4 4Py

0.360 m * 3.175 m * 2 4~k

(W) 0.360 m % 3.450 m *x 4 4FF
0.33 m2 * 12 4#FF
0.310 m2 x 6 4R

(Ui HT)
(Fh T

2) 4y-)-Ukr (ZR)
BHMERAGR #HQ)
(BB# D)
(EBM @)

5. EMTERBIFFLET

A1 ~P1R4
P1~A2f&

6. XAZIYT

A1 ~P1R4
P1~A2fH

1. YIERKALET

8.

1) AvH—I (t=30cmLLF)
B Y ETE=20.0m/H

2) 74¥—Y—IT (ETE% 0)
B YT E=3 3m2/8

SV Y U L— R
100tRYBMEX SO I L—2

0.484 m2 x 8 4Py
0.624 m2 *x 16 4~
0.542 m2 x 8 4Py

51.00 m /

32.24 m2/

M ™M

(—R+Z=R)

20.0 m/H

3.3 m2/H
LHEIAH X
2HITAHK

90
29
97
.03
. 86

- &~ &> ™ o

m2
m2
m2
m2
m2

3.87
9.98
4.34

m2

m2
m2
m?2

18.19
32.24

m2
m2

i
i

i

XK
X &

XK

m



9. BiHT

REAIER
20 460 "
AEE
2 10 200 20 10 200 2
i J U Y i
[ |ss0) | 1800 | 8%
S </ = | | = \% =
w = - - |= = = e
/ S| P | \
x = - |
300 3800 300 ‘ 300 3800 300
BEERBAAIE  L=20460
20 10200 20 10200 20
1890, 1800 RYZSEE A182.9m2 890
Py a Y Py Py o Py Py

| | |
[ 1 AT
k/|r| ulfl/{ |r/!f[/86|0(JJJ|, )’HI/V’:/ 4

2440

mYRs (HEmEHY. V—
BRmEE
B Em AR
BEmEERR

BET FBHAEEC—H)

10. Btk

REME B#R8HKR. 1.829%0
ERB#

b+ kB EE)
20.46 m
- 1.80 m =*
- 0.89 m *

*

20.46 m

*

. 914%0. 022
98 +

10. 62 m
8.60m
10. 62 m

2.44m

38 H

217.29
-15. 48
-18.90

10620

m2
m2
m2

182. 91

49.92

47

m2

m2



< EEBT (IHTHR) 4 E >

1. IBEEEET
(1) thNSHEEBEH —-—KL—I)
Gr—-C-2B-2 10.20 m + 10.20 m = 20.40 m
20.40 m * 15.50 kg/m / 1000 = 0.32 t
(2 ) TAI7MVMEHEERREER: - F&50A
(2.460 + 1/2 * ( 2.000 + 2.460 ) ) * 10.200 = 47.84 m2
47.84 m2 x 0.060 = 2.87 m3
Eh 2.870 x 2.30 t/m3 = 6.60 t
( 3 ) HEEEZTY
- g=hi) 2. 460 + 2.460 + 2.000 = 6.92 m
HEE th 10.200 + 10.200 = 20.40 m
2 = 27.32 m
( 4 ) T
20 W 400 20
L A1-P1:W1=2460, P1-A2:W1=2460~2000
2 -1 ) -2 —
R = S e
AsEhiE
M
I CNCe
T l
- ]
1) tHsRiREL
M B-1
PCIXS5 T
(MARYUYRKESE)
(1. 430%0. 490%2. 100) *2. 5 = 3.68 t
(€F=) (1.430%0.490%10.200)%*2.5 = 17.87 t
(IKFE) 17.87/2.5 = 7.15 m3
EHB-2
PCIRS T
(ALY YFRKESE)
(1. 365%0. 490%2. 100) *2. 5 = 3.51 t
(£E8) (1.365%0.490%10.200)*2.5 = 17.06 t
(fX%&) 17.06/2.5 = 6.82 m3



B+ ©-1
PCIRS T
HIABYRKEE)

(1. 430%0. 490+0. 400%0. 15) *2. 100%2. 5
(1. 430%0. 490+0. 400%0. 15) *10. 200%2. 5

(2E8)

(K¥&)  19.40/2.5

BHE-2
PCIXRZ T
HAHYERKREE)

(1/2% (1. 495+1. 405) 2. 0000. 490

+0. 400%0. 15%2. 000) 2. 5
(1/2% (1. 495+1. 035) x10. 200*0. 490

+0. 400%0. 15%10. 200) 2. 5

(2E8)

(fK%&)  17.34/2.5

2) ETHH

— RUEEF
BHME-1
HHME-2
BHMOE-1
#HHME-2

—RY)BREF
EBME-1
M B-2
M E-1
B E-2

3) A -WMTHEHE
T4 x¥—Y—T (FETX% C)
AXYEIE=3. 3m2/H

A - RTEHE (

17.
17.
19.
17.

17.
17.
19.
17.

817
06
40
34

817
06
40
34

~+ + + -+

~+ + + -+

Y N

Y N

21.24 m2 /
XOY-)-UIEER (L.

4 B +

90
90
90
90

25
25
25
25

(B#®) + (BBH ©®)

t/H
t/8
t/H
t/8

t/H
t/8
t/H
t/8

(=R)+(ZR)

3.3 m2/H

1.
28.

© o o o

© o o o

.99
19.
.16

40

.85

.34
.94

67
67

20
19
22

.19

"
68
18

. 69

7

22

m3

I |Im M m m

0 (M0 M m m

H

3.3 94—y —I] #5M8E,
7 B) *

H



(5) HMBEEE
1) EMIEEITS 7Y b
CRLUTHERT., FHIFE BY £58#IF Ta-EHaHILE Y FERELYIRKE)

W= 1.19 t
BEREE
B ] M OE-HR OB By &k B i %
Eil # [SM490 kg 1122 N ¥& gy
7 > A —® ) b [SD295A-D22 kg 68
% | ( 48 )
EHEERSE kg 1190
T 3§ % % T BEREDi-3 (HDI55) kg 1190
B % Bl L T |630x400 & 48
BB E A I |630X400 & AT 48 R~ &
kg 8.0
B & # 150X 59%200 I 12
150X 59X 300 s 12
ANERI B SUS. M16%25 x 48 |1-W
e A4 EE BEm =
<IBIEEXABHHREE>
<+ # (om) g & (kg
& B # ®m| B @ EE = %E|BNEE|1E%0| & #H| B A
NETE %
<1EED>
PL | SM490 450 22| 500 1] 77.715| 38.858| 38.86
" " 228 22| 500 1] 39.376| 19.688 [ 19.69
" " 128 22| 500 1] 22.106] 11.053[ 11.05
n ” 218 20| 406 2| 37.649| 11.780| 23.56| 177.1
& &t 93. 2
7vh- | SD295A D 22 470 4| 3.040 | 1.420] 5.72
& # 5.1
<zHEn> 12 &
SM4[9 0 1118 |k g
SD2s5A-D22 68 kg
( 48 |#)
N W 7 M 20 48 0. 082 tlke
10 620 _
430 4 850 20 2460 20 2 040 404

0

Al
7

_%_

g

g@@ﬂ

THIERIST Y




1) 88 M HEHEBRZSR

SM490 1118 kg
SD295-D22 68 kg ( 48 %)
N, W 4 kg

& & 1190 kg

2) IHENME- AvFER

W = #HHMEE = 1190 kg
3) BBHFEAT
ZEHEE $30Xx400 48 X
4) BWIEBEATL
BiEEA (630X400) 48 BEFF
W = (x/4 X 3 X 3
—~ 3.871 ) /10000 X 0.4
X 1130 kg/m3 X 48 HFT
X 1. 15
= 7.97 kg
5) &/ T7ovy
. 150X 59X 200 i
N = 1 » /% pd 12 &
= 12 »
< 150X 59%300
N = 1 /& X 12 &
= 12 #

gL MIGHS KT L— hBETOv s ARELT.

(SUS, 1-Wi#) M16DRALYIDZEFTS.
N = 4 5/ E X 12 &
48 &



2. HILT @7AR—Y2TIi%)

Y H ¢ 200 TA4x—yY—@BLR 50
L=490mm L=490mm
10200 20 10200
FLI
’7 ol D4 X—)—ELR $50
o mYAe200
74¥-y-@ Ly ¢ 50
L.=490mm 0.490 % 2 H@r = 0.98 m
FFl ¢ 200
L.=490mm 0.490 % 8 ~mRr = 3.92 m
3. DA4v—y—1I (lETE45 C)
10200 20 10200
5 T /§
g 77 7 G2 EA L ALty It 2 G IN , g s
8 IR NTETRITRTRNY 4‘“:}%*7 T—‘g_:'_@g vﬁiu\%;;:i;:@ 2 =
§ = NN ‘u \\\\\\\ NN P 7; NN #*\_\\:\:ic—}_:*::xj*g AR 2
2100 2100 2000 2000 2000 20 2000 ‘ 2000 ‘ 2000 ‘ 2100 2100 PCIH ZRYNMRGLE
XW1-1 XW1-2
A1-P1:G=D=1430~1430 A1-P1:(6=D=1430~1430
P1-A2: G=2)=1365~1365 P1-A2:(6=D=1495~1035
20 W1 400 20
Wi-1 W1-2
/8/ 2
L= —
j_—ll—_\L' D OO0 —=
1) M¥y-y-LtNEr (—HR)
B AT 0.490 m *x 10.200 m =* 2 5B = 10.00 m2




2) y-)-Ur (ZR)
BEEAAM
M-
B G-2
BHE-1

B E-2

4. ZERBEIYI
Al ~P1FS
P1~A2R8

5. UIMTKALET

N 94v—Y—I (lBLE% C)

(

(

1.
1.
. 430

B Y EITE=3. 3m2/H

6. BEkMR

430
365

. 405

.315

. 224

.130

* 0.490

* 0.490

* 0.490

* 0.490

* 0.490

* 0.490

* 0.490

*

4 4P
4 4P
0.400 m
4 4P
0.400 m
[
0.400 m
[
0.400 m
[
0.400 m

1 5

(—R+Z=R)

21.24 m2/

RERE R84, 1.829%0. 914%0. 022

ERBE%

4 B

+

3.3 m2/H
IR
LHETA#%

22 H

™M

2.80
2.68
m)
3.04
m)
0.75

0.70
m)
0.66
m)
0. 61

m2
m2

m2

m2

m2

m2

m?2

11.24
21.24

m2
m2

X &
XK

X A&

0.23

26

m



< EERT (SRTER) 3E >
1. [BBRET
(1) HNEEEE

iR (B R

175 1082000

0 X
125 O125x125x3.2 0100 100x3.2 O125%125x3.2
12kg/m 9.52ke/m 12kg/m

J—
=

125
— |

148

e
060x30x3.2
3. 9%ke/m

i1 O}
[60x30x3.2
| 3. 99%g/m

190

0011

0le
SL6

144

o7l

\ \ ‘
S%E ﬁﬁOXSOXS.Z W ! 7 ! -
i ] B
“ Lokeh
; ”E@f w | Tom o
Y ee g I e 1 o | I
8| 2. NI Ihihint
Xt PL 125x870% 10
gD;gng/:"OO x3.2
D BEEER
2.000 x 10 + 0.175 * 2 = 20.35 m
2) WEE=E
*H 9.52 % 0.975 % 11 / 1000 = 0.10 t
QD 12.00 %« (0.175 % 2 + 2.000 = 10 ) / 1000 = 0.24 t
HEEQ® 3.99 % (0.115 %2+ 2.000 x 10 — 0.100 = 11 ) * 3 / 1000
= 0.23 t
#EQ 5.50 % (0.115 %2+ 2.000 x 10 — 0.100 = 11 ) / 1000
= 0.11 t
wwEPPL ( 0.125 + 0.075 ) / 2 % 0.870 % 0.010 * 7.850 * 2
= 0.01 t
2 = 0.69 t
2 = 1.38 t
( 2) #EMEYZHLIEH o -
400 ‘ w 8 A a0
(¢ \ C\
800 [A
8
0.700 % 0.400 + ( 0.450 + 0.700 ) / 2 = 0.400 = 0.510 m?2
0.510 * 0.3 = 0.153 m3

0.153 * 2.50 * 2 0.77 t



(3 ) EFEHT
-1
A1-P1:@=D=240~240
P1-A2: T=D=240~1700

400 2 W2 400
A1-P1:W2=2040, P1-A2:W2=2040~ 2500 —

Wo-1, 285 1210 085 | A

) —
= |

300
350

4

1) #hsRmmRaEE L

D1
SR HH PR AR
HAHYRKES)
(1/2%(0. 200+0. 240) 0. 240) *2. 5%2. 210 = 0.29 t
(REE) (1/2%(0. 200+0. 240) *0. 240) *2. 5x10. 210 = 1.35 t
(k%) 1.35/2.5 = 0.54 m3
D2
oR Hi PR AR
HALYRKESE)
(1/2x(0. 200+0. 240) *1/2% (0. 600+0. 700) ) *2. 5*2. 210
= 0.79 t
(REE) (1/2%(0. 200+0. 240) *1/2* (0. 240+0. 700) ) *2. 5%10. 210
= 2.64 t
(K1&) 2.64/2.5 = 1.06 m3
EHH®
FRhR (1.210%0. 250) %2. 5 = 0.756 t/m
PR M 422 Bk -(1/2%(1.08+1.18)*0.05) 2.5 = -0.141 t/m
2 = 0.615 t/m
HAHYRKES)
(0.756-0. 141)*2. 210 = 1.36 t
(REE) (0. 756-0. 141) *20. 420 = 12.56 t
(k%) 12.56/2.5 = 5.02 m3



BHO

5k tH PR hix (0. 400%0. 350+ (0. 420-0. 400) 0. 250) *2. 5 = 0.363 t/m
5k HH R AR 1ZBR - (1/2%0. 420%0. 050) *2. 5 = -0.026 t/m
2 = 0.337 t/m
HAHYRKES)
(0. 363-0. 026) *2. 210 = 0.74 t
(REE) (0. 363-0. 026) *20. 420 = 6.88 t
(k%) 6.88/2.5 = 2.75 m3
R
KRR (75 > 2FB)
(HHIARZYES) 0.240%0. 285%20. 42%2. 5 = 3.49 t
(2EE) 0. 240%0. 285%20. 42%2. 52 = 6.98 t
(K#) 6.98/2.5 = 2.79 m3
(D) + (EB#®) + (B4 @) + (BB# (D) W = 30.41 t
2V = 12.16 m3
2) EIBA%
R+ D1 1.3 t / 25 t/H = 0.05 H
EH#MD-2 2.64 t / 25 t/H = 0.11 H
R4 ® 12.56 t / 25 t/H = 0.50 H
:IEZIO) 6.88 t / 25 t/H = 0.28 H
i) 6.98 t / 25 t/H = 0.28 H
2 = 2 H

3) A -MTHHE
T4 x¥—Y—T (lETR% C)
B Y EIE=3. 3m2/H 9.39 m2 / 3.3 m2/H = 3 H
Xy-y-vlEmEiEE. 44 D4v—v—I] 23K,
A - RTFEE ( 2 B+ 3 B) * 2 = 10 B



(4 ) #9H - W=

1500

PL 652 1109 (2 8) PL 6521109
] ‘13 | S
VN \V
© L4
SIS [: g8 :]
CH-250 x 9 13 x 1400
. . Y. Nu
EH L_%O_Té * 2049 % 2 PL eszxmxg/ \E.GSZXHOXQ%,?%L t
1T 0.0346 * 1.400 * 5 = 0.24 t
=5 R 0.652 x 0.110 * 0.009 * 7.850 *14 = 0.07 t
2 = 1.74 t
H—RRUOZROM - WE +Svo2L—2100tmRY., EARYEL
W= 7.43 + 0.24 + 0.07 + 6.98 = 14.72 t
( 5 ) ZEREL i B R R RE A
1) E&T
FH 182 * 0.014 * 20.420 * 2 = 104.06 m2
-2 34.6 x 0.0235 * 1.400 * 5 = 5.69 m2
= B A R+ (0.652 % 0.11 x 2 ) * 14 = 2.09 m2
2 = 111.84 m2
2) E SR
X 9.52 * 0.0409 * 0.975 * 11 = 4.18 m2
BEO 12.00 * 0.0406 * (2.000 * 10 + 0.175 * 2) = 9.91 m2
#%Q 3.99 * 0.0423 * (2.000 * 10 + 0.115 * 2 — 0.100 * 11) * 3
= 9.69 m2
i 15 36) 5.50 * 0.0416 * (2.000 * 10 + 0.115 * 2 - 0.100 * 11)
= 4.38 m2
8 &BPL (0.125 + 0.075)/2 = 0.870 * 2 * 2 = 0.35 m2
= 28.51 m2
(LET+HAREM) X = 140.35 m2
3) ZFELLFEUR  FFRIEXEREY. Tke/m2
1 * 140. 35 = 140.35 kg



4) REFMERER

3T 111.84 m2/ (50 + 50 ) m2/H = 2 B
ETEST 28.51 m2/ (19 +50) m2/H = 1 H
EHIBH > = 3 B
TR 0.10 A
i) BB 7 oHFRARER 6 &
i) FRAREERILE2— 6 A 2 @*x 01 Ax 22H = 26 {&
i) ELMETIEZIh#ER 6 A*x 2%+ 01 Ax 228 = 26 &
iv) PhEEFR 6 Ax 2 #x*x 01 Ax*x 228 = 26 #8
v) {LEBERE 12 B
5) WHT HEEMEE
i) BER<LY (1000kg/m3)
140.35 / 1000 = 0.14 m3
i) EEHRAEELES—F  (t=5mm) XELEV-MEHEIX. 2.9 BT 258,
49.92 * 0.005 = 0.25 m3
i) HIERER
0.40 m3 (F7E) = 0.40 m3
z = 0.79 m3
6) INEKEHE 3t/ L—2fFbIvYy
= ~ MET 1 [=

(6 ) HEZERUY
2.040 + 2.500 = 454 m



(7)) SEMEBET
1) EMIEEITS 7Y b
CRLUTHERT., FHIFE BY £58#IF Ta-EHaHILE Y FERELYIRKE)

W= 0.149 t
BREREZR s ’
L il MOE-B OB M % & i z
il #SM490 kg 143
T.C.B S10T kg 6
M20X75 b ( 16 )
BHEBSE kg 149
I % HET EHERNAYyFEY ks 143
BB LB I |6225 F 16
HHLURHMEET m 0.3
AV - R 55 A0 EEERER A9+ (HDI55) & PR 16
BE IOy s [TL1504594200mm | & 4
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1) &8 # HHERRSE

SM4 90 143 kg
T.C.B S10T M20X75 6 kg ( 16 tv}h)
& & 149 kg
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SM490 395 kg
SS400 120 kg
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N, W 5 kg
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